- Pre-Calculus 11
Solving Quadratic Equations
T ( Solve each equation by factoriﬁg.
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‘Solve each equation by taking squafe roots.
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Solve each equation by completing the square.
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- . Solve each equaﬁon with the quadratic formula.
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Find the value of the discriminant of each quadratic equation. b - Lt aC

- 25) Ix* —x—-9=0. ~ 26) —8n> +10n+8=0
0= bz-1 c=-9 1=-0 b=10 ¢-8
()% - 4 (M(-9) | (10" -1 (-®)(B)

R S Hz50]

Use the discriminant to determme the number of real solutlons to each equation.
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Answers to Solvmg Quadratic Equatlons (ID 1)
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